

County Distribution Detail Report through 01/03/2020

Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,359	1,843	14	4,216	\$5,270.00	\$126.37	\$5,143.63	0.70	\$3,600.54
							Entity Total	:	\$3,600.54
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,600.54
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,537	9,919	229	12,685	\$15,856.25	\$338.33	\$15,517.92	0.70	\$10,862.54
							Entity Total	:	\$10,862.54
							Adjustment	:	\$0.00
							Total Amou	nt:	\$10,862.54
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	900	1,050	3	1,953	\$2,441.25	\$56.96	\$2,384.29	0.70	\$1,669.00
							Entity Total	:	\$1,669.00
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,669.00
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2019	1,962	3,812	10	5,784	\$7,230.00	\$146.30	\$7,083.70	0.70	\$4,958.59
							Entity Total	:	\$4,959.47
							Adjustment	:	\$0.00

\$4,959.47

Total Amount:

Brookings

Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	10,910	20,430	154	31,494	\$39,367.50	\$848.20	\$38,519.30	0.70	\$26,963.51
							Entity Tota	l:	\$26,963.51
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$26,963.51
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	11	0	0	11	\$13.75	\$6.37	\$7.38	0.70	\$5.17
11/2019	9,737	25,403	245	35,385	\$44,231.25	\$930.00	\$43,301.25	0.70	\$30,310.88
							Entity Tota	l:	\$30,316.05
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$30,316.05
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,258	3,520	8	5,786	\$7,232.50	\$148.31	\$7,084.19	0.70	\$4,958.93
							Entity Total	l:	\$4,958.93
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,958.93
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	537	420	2	959	\$1,198.75	\$24.42	\$1,174.33	0.70	\$822.03
							Entity Tota	l:	\$822.03
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$822.03
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,481	6,232	33	8,746	\$10,932.50	\$242.28	\$10,690.22	0.70	\$7,483.15
							Entity Tota	l:	\$7,483.15

Adjustment:	\$0.00
Total Amount:	\$7,483.15

0.70

\$25,715.62

11/2019

4,289

24,308

1,441

30,038

\$37,547.50

\$810.90

\$36,736.60

Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	714	1,384	14	2,112	\$2,640.00	\$52.91	\$2,587.09	0.70	\$1,810.96
							Entity Total	:	\$1,810.96
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,810.96
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,696	5,198	22	7,916	\$9,895.00	\$203.40	\$9,691.60	0.70	\$6,784.12
							Entity Total	:	\$6,784.12
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,784.12
City of Box Elder, M	eade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	25	2,400	44	2,469	\$3,086.25	\$78.88	\$3,007.37	0.70	\$2,105.16
							Entity Total	:	\$2,105.16
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,105.16
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	924	2,592	139	3,655	\$4,568.75	\$118.68	\$4,450.07	0.70	\$3,115.05
							Entity Total	:	\$3,115.05
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,115.05
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							•		• •
							Adjustment	:	\$0.00
							Total Amou	nt:	\$25,715.62
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,360	2,164	14	3,538	\$4,422.50	\$90.54	\$4,331.96	0.70	\$3,032.37
							Entity Total	:	\$3,032.37
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,032.37
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,683	7,364	207	9,254	\$11,567.50	\$243.78	\$11,323.72	0.70	\$7,926.60
							Entity Total	:	\$7,926.60
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,926.60
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	4	0	0	4	\$5.00	\$0.49	\$4.51	0.70	\$3.16
11/2019	7,583	18,254	589	26,426	\$33,032.50	\$710.65	\$32,321.85	0.70	\$22,625.30
							Entity Total	:	\$22,628.46
							Adjustment	:	\$0.00
							Total Amou	nt:	\$22,628.46
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,149	623	145	1,917	\$2,396.25	\$50.46	\$2,345.79	0.70	\$1,642.05
							Entity Total	:	\$1,642.05
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,642.05
Custer									

Entity Total:

\$25,715.62

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	3,306	5,464	38	8,808	\$11,010.00	\$247.40	\$10,762.60	0.70	\$7,533.82
							Entity Total:		\$7,533.82
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,533.82
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	4	0	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
11/2019	5,002	13,541	161	18,704	\$23,380.00	\$481.66	\$22,898.34	0.70	\$16,028.84
							Entity Total:		\$16,032.34
							Adjustment:		\$0.00
							Total Amour	nt:	\$16,032.34
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2019	2,100	3,461	13	5,574	\$6,967.50	\$141.10	\$6,826.40	0.70	\$4,778.48
							Entity Total:		\$4,779.36
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,779.36
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,779	2,849	20	4,648	\$5,810.00	\$126.66	\$5,683.34	0.70	\$3,978.34
							Entity Total:		\$3,978.34
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,978.34
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,226	2,127	7	3,360	\$4,200.00	\$87.27	\$4,112.73	0.70	\$2,878.91
							Entity Total:		\$2,878.91

	Adjustment:	\$0.00
	Total Amount:	\$2,878.91
dmunde		

Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,280	2,839	22	4,141	\$5,176.25	\$105.44	\$5,070.81	0.70	\$3,549.57
							Entity Total:	<u> </u>	\$3,549.57
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,549.57
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	3,121	4,497	22	7,640	\$9,550.00	\$198.49	\$9,351.51	0.70	\$6,546.06
							Entity Total:		\$6,546.06
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,546.06
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	755	1,416	5	2,176	\$2,720.00	\$55.19	\$2,664.81	0.70	\$1,865.37
							Entity Total:	:	\$1,865.37
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,865.37
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
11/2019	2,160	5,170	25	7,355	\$9,193.75	\$188.12	\$9,005.63	0.70	\$6,303.94
							Entity Total:	:	\$6,309.19
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,309.19
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

11/2019	1,753	3,438	16	5,207	\$6,508.75	\$143.51	\$6,365.24	0.70	\$4,455.67
							Entity Total:		\$4,455.67
							Adjustment:		\$0.00
							Total Amount	::	\$4,455.67
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,030	1,339	5	2,374	\$2,967.50	\$59.52	\$2,907.98	0.70	\$2,035.59
							Entity Total:		\$2,035.59
							Adjustment:		\$0.00
							Total Amount	::	\$2,035.59
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,667	3,538	8	5,213	\$6,516.25	\$131.08	\$6,385.17	0.70	\$4,469.62
							Entity Total:		\$4,469.62
							Adjustment:		\$0.00
							Total Amount	i:	\$4,469.62
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,083	2,594	17	3,694	\$4,617.50	\$102.43	\$4,515.07	0.70	\$3,160.55
							Entity Total:		\$3,160.55
							Adjustment:		\$0.00
							Total Amount	t:	\$3,160.55
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	899	2,968	21	3,888	\$4,860.00	\$99.94	\$4,760.06	0.70	\$3,332.04
							Entity Total:		\$3,332.04
							Adjustment:		\$0.00
							Total Amount	t:	\$3,332.04
Harding									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	697	880	2	1,579	\$1,973.75	\$49.78	\$1,923.97	0.70	\$1,346.78
							Entity Total:		\$1,346.78
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,346.78
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	4	0	0	4	\$5.00	\$0.49	\$4.51	0.70	\$3.16
11/2019	4,277	13,837	235	18,349	\$22,936.25	\$508.89	\$22,427.36	0.70	\$15,699.15
							Entity Total:		\$15,702.31
							Adjustment:		\$0.00
							Total Amour	nt:	\$15,702.31
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,928	4,910	45	7,883	\$9,853.75	\$216.69	\$9,637.06	0.70	\$6,745.94
							Entity Total:		\$6,745.94
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,745.94
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	615	1,038	6	1,659	\$2,073.75	\$42.22	\$2,031.53	0.70	\$1,422.07
							Entity Total:		\$1,422.07
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,422.07
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	653	825	4	1,482	\$1,852.50	\$37.53	\$1,814.97	0.70	\$1,270.48
							Entity Total:		\$1,270.48
							Adjustment:		\$0.00

Total Amount:	\$1,270.48
i otal Alliount.	φ1,270.40

la:		ᇄ
JE	rau	ıu

00.44.4									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	832	1,190	5	2,027	\$2,533.75	\$52.43	\$2,481.32	0.70	\$1,736.92
							Entity Total	:	\$1,736.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,736.92
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	566	667	3	1,236	\$1,545.00	\$31.31	\$1,513.69	0.70	\$1,059.58
							Entity Total	:	\$1,059.58
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,059.58
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,323	3,802	56	5,181	\$6,476.25	\$132.64	\$6,343.61	0.70	\$4,440.53
							Entity Total	:	\$4,440.53
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,440.53
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,705	8,952	66	11,723	\$14,653.75	\$303.47	\$14,350.28	0.70	\$10,045.20
							Entity Total	:	\$10,045.20
							Adjustment	:	\$0.00
							Total Amou	nt:	\$10,045.20
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	7	0	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
11/2019	7,765	16,340	153	24,258	\$30,322.50	\$627.15	\$29,695.35	0.70	\$20,786.75

							•		, ,, , , , , , , , , , , , , , , , , , ,
							Adjustment	:	\$0.00
							Total Amou	nt:	\$20,792.88
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	131	0	0	131	\$163.75	\$0.00	\$163.75	0.70	\$114.63
11/2019	3,827	22,957	2,183	28,967	\$36,208.75	\$782.78	\$35,425.97	0.70	\$24,798.18
							Entity Total	:	\$24,912.81
							Adjustment	:	\$0.00
							Total Amou	nt:	\$24,912.81
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,019	1,733	213	2,965	\$3,706.25	\$83.08	\$3,623.17	0.70	\$2,536.22
							Entity Total	:	\$2,536.22
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,536.22
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,605	2,799	15	4,419	\$5,523.75	\$114.95	\$5,408.80	0.70	\$3,786.16
							Entity Total	:	\$3,786.16
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,786.16
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,140	4,193	14	6,347	\$7,933.75	\$161.12	\$7,772.63	0.70	\$5,440.84
							Entity Total	:	\$5,440.84
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,440.84
McPherson									

Entity Total:

\$20,792.88

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	994	1,539	4	2,537	\$3,171.25	\$75.68	\$3,095.57	0.70	\$2,166.90
							Entity Total	:	\$2,166.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,166.90
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	17	0	0	17	\$21.25	\$0.00	\$21.25	0.70	\$14.88
11/2019	3,575	17,508	242	21,325	\$26,656.25	\$570.48	\$26,085.77	0.70	\$18,260.04
							Entity Total	:	\$18,274.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,274.92
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	577	657	0	1,234	\$1,542.50	\$30.87	\$1,511.63	0.70	\$1,058.14
							Entity Total	:	\$1,058.14
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,058.14
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,006	1,855	4	2,865	\$3,581.25	\$72.16	\$3,509.09	0.70	\$2,456.36
							Entity Total	:	\$2,456.36
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,456.36
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	319	0	0	319	\$398.75	\$4.90	\$393.85	0.70	\$275.70
11/2019	42,575	146,676	3,601	192,852	\$241,065.00	\$5,149.31	\$235,915.69	0.70	\$165,140.98
							Entity Total	:	\$165,416.68

Adjustment:	\$0.00
Total Amount:	\$165,416.68

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,407	4,938	23	6,368	\$7,960.00	\$183.99	\$7,776.01	0.70	\$5,443.21
							Entity Total	:	\$5,443.21
							Adjustment	::	\$0.00
							Total Amou	int:	\$5,443.21
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	232	0	0	232	\$290.00	\$6.37	\$283.63	0.70	\$198.54
11/2019	25,414	77,103	1,544	104,061	\$130,076.25	\$2,800.99	\$127,275.26	0.70	\$89,092.68
							Entity Total	:	\$89,291.22
							Adjustment	::	\$0.00
							Total Amou	int:	\$89,291.22
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,755	2,241	8	4,004	\$5,005.00	\$110.34	\$4,894.66	0.70	\$3,426.26
							Entity Total	:	\$3,426.26
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,426.26
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,119	1,765	7	2,891	\$3,613.75	\$73.43	\$3,540.32	0.70	\$2,478.22
							Entity Total	:	\$2,478.22
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,478.22
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

11/2019	3,412	4,968	17	8,397	\$10,496.25	\$232.28	\$10,263.97	0.70	\$7,184.78
							Entity Total:		\$7,184.78
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,184.78
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	777	1,722	9	2,508	\$3,135.00	\$62.83	\$3,072.17	0.70	\$2,150.52
							Entity Total:		\$2,150.52
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,150.52
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	1,930	4,426	25	6,381	\$7,976.25	\$166.18	\$7,810.07	0.70	\$5,467.05
							Entity Total:		\$5,467.05
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,467.05
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	711	2,139	17	2,867	\$3,583.75	\$75.41	\$3,508.34	0.70	\$2,455.84
							Entity Total:		\$2,455.84
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,455.84
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	641	1,146	4	1,791	\$2,238.75	\$45.40	\$2,193.35	0.70	\$1,535.35
							Entity Total:		\$1,535.35
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,535.35
Todd									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	0	75	4	79	\$98.75	\$12.63	\$86.12	0.70	\$60.28
							Entity Total:		\$60.28
							Adjustment:		\$0.00
							Total Amour	nt:	\$60.28
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,434	3,891	4	6,329	\$7,911.25	\$163.42	\$7,747.83	0.70	\$5,423.48
							Entity Total:		\$5,423.48
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,423.48
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,228	6,077	17	8,322	\$10,402.50	\$209.39	\$10,193.11	0.70	\$7,135.18
							Entity Total:		\$7,135.18
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,135.18
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,984	10,885	560	14,429	\$18,036.25	\$429.68	\$17,606.57	0.70	\$12,324.60
							Entity Total:		\$12,324.60
							Adjustment:		\$0.00
							Total Amour	nt:	\$12,324.60
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2019	2,032	3,571	126	5,729	\$7,161.25	\$145.03	\$7,016.22	0.70	\$4,911.35
							Entity Total:		\$4,911.35
							Adjustment:		\$0.00
							Total Amou	nt:	\$4,911.35

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	4	0	0	4	\$5.00	\$6.38	\$-1.38	0.70	\$-0.97
11/2019	5,212	15,561	234	21,007	\$26,258.75	\$540.55	\$25,718.20	0.70	\$18,002.74
							Entity Total	:	\$18,001.77
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,001.77
Totals	213,741	585,023	13,143	811,907	\$ 1,014,883.75	\$ 21,708.27	\$ 993,175.48		